7L GKS500 For GKS501/GKS502
B 2021/7/28 fMREME  BKO1-104-02)GKS500.
INJL— 4E3T A—h—
~ BRGE M BR5E Mm% EJR T4 &5%& fgﬁg FEIN
No. = B ik
1 |- HRBRFELTEYEFEA HBRBEFELTEYEEFA 1 -
1-1 |KSM22 T 32—V 45y kb KSM M22 KSM22 795-Y4yF KSM M22 1 6,360
1-2 |222TA 4 >+ —SET M1 T22 UN7/8 SET 222TA 1u+-Yry+ M1 T22UN7/8 1 8,200
1-3 |E313M AT U4 225x1.4x53 E313M 1U1-Y479+27° Jv)" S26 1 600
2 E617 1EHR L E617 bA4Y" E1 2 330
3 E616A Z2E[Q0Owv4%5 X FRS-56 E616A At°ANy42 FRS56 1 670
4 Y70502 ZAEAR kysN Y70502 At" BAbyN° (CK) 1 4,330
5 EM015M2 HJREBQR kwy/N EMO15M2 #7° At" RAbyn —(AD) 1 3,360
6 EMO016 Z2E[Q0Ow45 X RR-243 EMO16 At° 00y92 RR243 1 670
7 Y28584 T 93—y kiRILE Y28584 7945y Mg —(EK) 1 7,960
10 Y70507 A oF—=I7y biRILE Y70507 1u1-Yy Mg (CK) 1 20,240
11 | Y57227 AERRITIESD Y57227 At° R3TE 4(Q4) 1 3,310
12 E314M Z2E[QQ0w%H X FRS-52 E314M at° 0Ay42 FRS52 1 470
13 Y57210 Jw i a 52x60x3.5 Y57210 7" 9¥1 U166 1 3,130
14 Y57213 Jwa 54x61.5x3.5 Y57213 7" 9¥1 U168 1 2,510
15 Y42019 gHER 5mm Y42019 & - 5 AF-) 35 20
16 Y71587 A4 3 —F)LXY 1.25x44x55.2 Y71587 {¥5-1I% ¥ C40 1 14,360
17 | Y70517 74 FIL¥Y 1.25x16x20 Y70517 74+ %" ¥ A158 4 3,150
18 EMO029A —— FILHy—< KT91210 EMO029A =-} Wr-Y" KT91210 8 1,360
19 Y70518 XY EL 9x28.5 Y70518 # ¥t° v 9*28.5 P135 4 1,640
20 Y71594 Jw 1 56.5x62x5.3 Y71594 7" Y1 U177 1 10,000
21 |Y77146 4S5 —2R 1.0x49x81.7 Y77146 £ ¥h-2 H21 1 30,060
22 Y70527 E=A 2% 1.25x12x28.8 Y70527 t" Zv%" ¥ B185 1 13,020
23 E634 T a 24x45%2 E634 7" yv1 US 2 1,910
24 Y70528 —< 30.5x10.2G Y70528 -~ W140 1 18,180
25 Y70122 74 FJL¥Y 1x18x10C Y70122 74} W& ¥ A159 4 3,160
26 EGM225 —— KLy —< KT81110 EGM225 -} Wr-Y" KT81110 4 1,290
27 |Y70123 X4y E> 8x16.5B Y70123 # ¥t* v 8*16.5B P136 4 1,670
28 EGM227 E=-A>2F 1x11x18.5A EGM227 " 2V v B21 1 9,580
29 Y70127 4 —< 30.5x7.2B Y70127 5-¥° W141 1 18,130
30 E648 74 KILEXY 1x18x7 E648 74 I ¥ A1 3 1,150
31 E341 —— FILy— KT697 E341 =-} M-y KT697 3 750
32 |E650 XY EL6x13.5 E650 + ¥t° v 6*13.5 P1 3 600
33 |E345 RASARZ—FILRF7Y Yy E345 25Ah=—} ) NTB1528 1 870
34 EGM234 Y3 0F4RY EGM234 7Y9Y3y7 137 E6 1 7,530
35 E654 Z2E[QOw4%5 X RR-206 E654 At° 0ny92 RR2064R 1 270
36 EGM236 AEOT Y v 44x1.5x4 EGM236 at° 07yY% E7 1 1,440
37 Y71460 20533y JIS 158A Y71460 7Y5¥3v )v9" (D1) 1 2,400
38 EB6903 71245 6903 EB6903 A" 7Yv%” 6903 1 1,050
39 Y70138 NPy Y70138 nyy" ¥4 Q53 1 24,890
40 |EGM653 INATUTARIL b M4x12 EGM653 6197194 Wb M4*12 9 20
41  Y77149 EZ#4 > % 1x11x89 Y77149 t° Z1V%" ¥ B207 1 7,845
42 |EB6801 71 >4 6801 EB6801 A 714" 6801 1 1,050
43 |Y77150 AR JLFA 1x43x22 Y77150 A" A" ¥ ¥ 114 1 15,100
44 1Y42600 I — RKILART )24 TLA1010Z Y42600 Y1lhh™ 4=-+ ) TLA1010 1 950
45 IW8 gHER 4mm IW8 & -l 4 AF- 6 20
46 Y62048 D53V FhL Y62048 939Fhh GKS250(EK) 1 9,000
47 E954 A5RR=—FJLR7 ) >4 NTB2035 E954 25Ah=—} )y NTB2035 1 1,360
48 Y76144 AS54 KTy Y76144 231} 7" vy GKS250(EK) 1 6,200
49 Y65989 AT 25 29x1.2x25 Y65989 27" vh” S112 1 380
50 Y65987 AT U4 21.3x2.9x19.2 Y65987 27" Yvh" S113 1 400
51 Y65993 AT 2 14.2x1x24 Y65993 27" vh” S114 1 440
52 Y72196 AS5XMZ—FJLR7 ) >4 NTB1024 Y72196 AFAh=—} A" 7Yvh” NTB1024 1 1,870
53 Y72197 AR KTy v AS1024 Y72197 23A+7y¥y AS1024 2 650
54 Y16071 TFONYRRTIY ¥ Y16071 7V #Ab7yv% GKS250(EK) 1 6,910
55 Y72198 725 606 Y72198 A" 7Yv5° 606 1 745
56 Y67681 NIV HIN— Y67681 nyy" v9" in - GKS250(EK) 1 4,800
57 Y15231 TOxYRARAHA R Y15231 7% ¥Abh" 1} GKS250(EK) 1 1,000
58 Y65994 A F1) >4 3.8x0.35x10 Y65994 27" Yvh" S115 2 440
59 Y82531 TONARKN D Y82531 7V ¥AM 7" GKS250 (EK) 1 1,000
60 Y72199 Z2E¥[0Ow45 X FRS-30 Y72199 At” nnyHa FRS30 1 580
61 Y70148 275457y bk Y70148 7" 3y b X31 1 15,180
62 Y70532 E-# AKX JLFY 1x17x32.5 Y70532 t" ZfvA" A" W4 ¥ D31 1 13,200




63 EB6001 A7) >4 6001 EB6001 A" 7Yv4” 6001 1 980
64 |524-1012 CHz L& #s 128H A 524-1012 F49 ¥ 539 STW12 1 70
65 |Y70153 F4TH— P-A 4x4x9 Y70153 A{19%- P-A 4*4*9 1 240
66 Y70157 A1) AILEA 0.8x32x10 Y70157 A"+ F55 1 5,470
67 |Y70172 A1) AT 0.8x39x8.3 Y70172 A%+ F56 1 5,620
68 EB6803 7145 6803 EB6803 A" 7Yv%” 6803 1 1,160
69 |EGH466 Z2EBQ0Ow%H X FRR-26 EGH466 At° 00yJ2 FRR26 1 450
70 Y70173 Bt T wa 17x20x14.1 Y70173 % V7" y¥1 VI 1 1,380
71 |Y70187 Twra 17x21x3 Y70187 7" yy1 U247 1 1,270
72 Y44029 AAFRERIL b Max25(EES I - (ERESMEA) | Y44029 6h97FY4BT M4A*25E5.1 #4417 £43 0 75
73 |Y57576 TyiaAy K 4x44 Y57576 7" yyany b E53 1 1,020
74 Y70188 49w <3231 S7000 Y70188 4y¥ava’ L(CJ) 1 820
75 1Y44032 INATUTRIL k M4x32 Y44032 6197FY4E Wb M4*32 4 40
76 |GM2821 E£—4 S-7100WR 100V GM2821 -9 S7000WR(100V) GKS501 A 1 45,360
76 |GM2822 E—4 S-7200WR 200V GM2822 £-4 S7000WR(200V) GKS502H 1 45,360
76-1 GM2851 R7Y25 754y k S7000 GM2851 A" 7v4° 7° 3y b GM220A 1 2,910
76-2 [EB6000DDU A7 1) >4 6000DDU(NSK) EB6000DDU A" 7)¥4° 6000DDU 1 1,480
76-3 GM2861 7 X F o F7H#IL S7T000WR 100V GM2861 7vF17 S7000WR(100V) GKS501 A 1 14,400
76-3 GM2862 7 X F 2 7H#A3L S7T000WR 200V GM2862 7vF17 S7000WR(200V) GKS502H 1 14,400
76-4 |[EB608DDU ~7 1) >4 608DDU EB608DDU A" 7Y»4" 608DDU 1 1,240
76-5 GM2914 J7>HA K S7000 GM2914 -4S7000WR3) 778" 1+ 1 1,200
76-6 GM2911 PAVERIN :hvi GM2911 7L-b93%7 S7000WR 1 10,000
76-7 GM2915 +FIFERE v Eia L M4x60 |GM2915 E-9S7000WR3I) +7' 1549t 40" M 2 75
76-8 GM2891 X T—%4 S7000WR 100V GM2891 27-9 S7000WR(100V) GKS501 A 1 8,600
76-8 GM2892 R T—%4 S7000WR 200V GM2892 A7-% S7000WR(200V) GKS502H 1 8,600
76-9 GM2912 fig X 1) — 2 S7000 GM2912 £-4S7000WR3IY " YIvAY-7° 1 2,400
76-10 |GM2913 itz ES S7000 GM2913 T-4S7000WR3J " YIv¥ h 4 1 90
76-12 GM295 h—HKRo TS5 57 GM295 - ¥7° 3¥ S7T000WR 2 240
76-12 |1Y78944 h—HR>TS5S S72V S7000%-4% S72Vh-§ V7" 3% 44 7200V A 2 #N/A
76-13 EGM14M 75 %y 7 S6000W EGM14M 7" 394%+y7° S6000WR-CE 2 220
76-14 E8100 =N 3 E8100 1" LtY S6000 1 50
77 Y64534 gy 7 Y64534 4" Jy7" R45 1 8,850
78 Y13651 ARAYFHhL Y13651 2{yF#hh GKS250 (EK) 1 1,000
79 Y65991 hCYRTYH Y65991 4% Y27° Y»4" GKS250(EK) 1 2,160
80 Y72202 EITEY ATV LR B25%x28 Y72202 AMa9E° UB 2.5*28 1 2,730
81 Y71340 1) L—#H31 GKS250 100V Y71340 )U-93%97 GKS250 100V (EK) GKS501H 1 15,600
81 Y71341 1) L—#H31 GKS250 200V Y71341 )U-9347 GKS250 200V (EK) GKS502F 1 15,600




82 |EMO095 FE4TEL B5x18 EMO095 AM29E" Y 5*18 BYa 1 220
83 Y73279 AL YF LiIN— Y73279 2 yFln" -(AQ) 1 1,220
84 |E3122 k1 H—RA vF SP115C-2-2(7 2V %) E3122 Mh -2{yF SP115C-2 1 2,050
85 1Y44810 +F R~ L M35x6(E 5 EITES) Y44810 +FA° 12 M3.5%6 2 20
86 Y65954  ESHASI (%) Y65954 + 94357 F+ (AQ) 1 650
88 |E8130 a— F7—=< S9000 E8130 31—} 7-v S9000 1 550
89 1Y65959 Tw i a 20x24x2 Y65959 7° yya U222 1 750
90 064-0001 a—F#&Y 5 > F(#iE) 064-0001 3-F 14144 1 130
91 Y44868 +ERIEYTEA kLU EPAA Max18(B8) | YA4868 +1A 497" 44} 4*18 5 55
92 |EGM35M a YT Y PAB224 EGM35M 1v7 U PAB224 1 310
93 EGM37M 3—AE7 242 —=7 )L Type6E/2DS EGM37M 3-0t° 7V4-31) 6E/2DS 1 510
94 Y78145 A—REFVE2—=FI) Y78145 3-0t° 7¥5-31W6E/1DS 1 600
95 1Y33043 J1)yThin— Y33043 4" Jy7° i’ - T43 1 7,380
96 Y78012 EEZ Y78012 &) ¥ (FM) 1 950
97 1Y70189 n3I’JL—+k Y70189 A" 7° L-MCJ) 2 1,760
98 Y70182 FonN—JL—F Y70182 +un" -7° L-}(CJ) 1 560
100 Y71310 AERTINIL Y71310 F2943A" ) E36 1 180
101 Y28505 1R BEAEAHTAM FV2M3(JST) 100v/200vV |Y28505 7yF4y4vy FV2-M3(32° 11) 3 130
102 Y73287 O — F#RHAIT 100Vx2x1.5 Y73287 31—} Y 4347 100V*2*1.5 Y50 GKS501F 1 7,110
102 |Y73289 O — F#R#AIT 200Vx2x1.5 Y73289 1-} v 4347 200V*2*1.5 Y51 \GKS502F 1 7,110
103 - BEBRELTEY EFHA HERFELTEY FEA 1 -
104 |- HERELTEYFEEA BEEELTEY FEA 1 -
104 - BEBRELTEY EFEHA HERFELTEY FEA 0 -
105a Y78022 +—AL7L— b+ ERN 100VIEE Y78022 #-47° -} GKS501 ¥a7*y(FM) GKS501A 1 710
105a Y78023 +—AL7L— b+ ERN 200VIEE Y78023 #-47° -} GKS502 ¥37i»(FM) GKS502A 1 710
105b Y75125 F—LTL— bk 100V-EE-E& Y75125 #=L7° L-F100V-1{ #v-h{319)E54| GKS501 A 1 710
105b |Y75126 F—ALTL— b 200V-EE-ZE Y75126 #-47° L-}200V-NM #v-r{314)E55 GKS502F 1 710
106 |MC333309 A A L4 —XR 325x325x91 MC333309 325X325X91(M-36) *4li-A 1 10,000
107 Y42319 R71) 2% 6801LLB Y42319 A" 7Y% 6801LLB 1 1,925
108 |EMD5 Y7y bty b K5 4/3— EMD5 EMDS5 Yy ey bh 340 MYY-2 1 1,600
109 Y07521 A—0OE7 48— FILETAARL T Y07521 I-0t° 7U5-314371393% ¥5 (EK) 1 55




